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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

This guide includes some examples of student responses to a selection of
questions from the summer 2018 Combined Physics Science.

The question parts are reproduced, along with the final mark scheme,
student responses and a commentary from the Lead Examiner on each of
the students’ answers.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

PHYSICS EXTENTION PAPER
QUESTION

04.5

E The maximum velocity of the cage is 150 km/h.

The mass of the cage and passengers is 390 kg.
Gravitational field strength = 9.8 N/kg.

Calculate the maximum height the cage reaches above the ground.
Use the correct equations from the Physics equation sheet.

[4 marks]
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

Question Marking guidance Mark Comments
Initial velocity =41.7m /s 1 an answer of 88.7 (m) or 90 (m) scores 4 marks
initial Ex = final E 1 an answer of 1150 (m) scores 3 marks
04.5 5
Yo (300) = 41.7° =98 = (300) = h 1
allow 90 (m)
88.7 (m) 1
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A

[0]4].[5] The maximum velocity of the cage is 150 kmvh.
The mass of the cage and passengers is 390 kg.
Gravitational field strength = 9.8 N/kg.

Calculate the maximum height the cage reaches above the ground.
Use the correct equations from the Physics equation sheet.

[4 marks]
CEk salp: wxfrd = Famyu
;F-fﬂ(/g’ :;_‘ = ;r' ¥ (s L-/U = ‘g" x{w.}--/rf
hs 3-[3m foba fh = Y1) fr
Maximum height = d.rs m

EXAM COMMENTARY

The student has correctly given the relationship required for the calculation
and has converted km/h into m/s. Their substitution is correct but
unfortunately an arithmetic error has prevented them from scoring full
marks.

3 marks awarded.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

@ The maximum velocity of the cage is 150 km/h.
The mass of the cage and passengers is 390 kg.
Gravitational field strength = 9.8 N/kg. Lo kaalin

Calculate the maximum height the cage reaches above the ground.
Use the correct equations from the Physics equation sheet.

[4 marks]
ke Et‘:a'ié_\; o g
ngia = SV -
L 3oTasgemexh .
- h=WSom BT S
e o gmTw T
Maximum height= A\So —_ m :

EXAM COMMENTARY

The student has correctly identified the relationship required for the
calculation but has failed to convert km/h into m/s. The substitution and
rearrangement are correct so they only miss out on the first marking point.

3 marks awarded.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT C

v
E The maximum velocity of the cage is 150 km/h.
The mass of the cage and passengers is 390 kg. V™
Gravitational field strength = 9.8 N/kg. 'ﬂ pe- ke

Calculate the maximum height the cage reaches above the ground.
Use the correct equations from the Physics equation sheet.

[4 marks]
QP = mprl-b.0 uu/f bm_'a%_w
mﬂL_Jmu S

. _m}“_&!?twfzjh/h_. e e ]

- M P Iy %%;h«/h o

N2 - a7 o
B /N1 19 8 22 " T

- [ —|
Maximum height = me m

EXAMINER COMMENTARY

The student has correctly identified the relationship required for the
calculation but has failed to convert km/h into m/s. The substitution and
rearrangement are correct however, they have misunderstood the use of
km/h and assumed that the answer they have is in km. They have then
multiplied their answer by 1000 to ‘convert’ to m.

2 marks awarded.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

QUESTION

04.2

. @ The student obtained the results in Table 3.

Table 3

Mean
extension
in mm
0
20
58
115
181
225
240

Force in
N

|kl =0

Plot a graph of extension (y-axis) against force (x-axis) and draw a line of best fit.

Use the grid on page 17.
[4 marks]
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

Question Marking guidance Mark Comments
axes labelled with quantities and units 1
scales chosen so that the points fill at least half of the paper 1
04.2 scales in sensible increments eg. 10, 20
points plotted correctly 1
smooth curve of best fit drawn 1
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A

\._H
T

Lo - it
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J | | I |

a2t :"‘. .J;[_ i | __,_ e _-E__-"Ti_g_?_

+
S 1 4 &
L] i RS L

Question 4 continues on the next page

R e '
1

EXAMINER COMMENTARY

The student has not fully labelled the axes with quantities and units
although they have given a correct scale to score the second marking point.
A number of points have been plotted incorrectly and the line of best fit has
been drawn as a straight line rather than a curve.

1 mark awarded.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

|_\‘T
a
';' L
|
|

Megsn:  Exlepin,

EXAMINER COMMENTARY

The student has not fully labelled the axes by missing the unit for mean
extension.

Their scale is appropriate and points are correctly plotted but their line of
best fit is incorrect.

2 marks awarded.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT C
I mm | | } |
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EXAMINER COMMENTARY

The student has labelled the axes with quantities and units and has chosen
an appropriate scale.
Their points are correctly plotted and a curve has been drawn for the line of

best fit.

4 marks awarded.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

QUESTION

01.1,01.2 AND 01.3

The stopping distance of a vehicle is equal to thinking distance plus braking distance.
[0]1].[1] Whatis meant by the term thinking distance?
[1 mark]

. IZI The speed of a vehicle affects thinking distance.

State one other factor that affects a driver’s thinking distance.
[1 mark]

EI Explain why this factor affects thinking distance.
[2 marks]
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

‘ Question ‘ Marking guidance ‘ Mark | Comments
Level 2: Scientifically relevant facts, events or processes are 3-4
identified and given in detail to form an accurate account.
Level 1: Facts, events or processes are identified and simply stated
but their relevance is not clear. 1-2
No relevant content 0
Indicative content
04.1 Reducing errors ignore references to repeating readings
+ Ensure that the metre ruler is vertical in the clamp stand
* Take readings at eye level to avoid parallax errors
+ Ensure that the elastic stops moving before taking a reading
Increasing accuracy
+ Use a pointer
+ between the elastic and the hanging mass to increase the accuracy
of the reading from the ruler
+ Use a set square
+ {o ensure that the metre ruler is vertical in the clamp stand
axes labelled with quantities and units 1
scales chosen so that the points fill at least half of the paper 1
04.2 scales in sensible increments eg. 10, 20
points plotted correctly 1
smooth curve of best fit drawn 1
does not obey Hooke's law because the relationship is not directly 1 allow because it's not a straight line through the origin
04.3 proportional
only one elastic band has been tested 1
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A

The stopping distance of a vehicle is equal to thinking distance plus braking distance.

[0]1].[1] whatis meant by the term thinking distance?

[1 mark]
Te b N oues B o drwer YO Soper
[0T1].[2] The speed of a vehicle affects thinking distance.
State one other factor that affects a driver's thinking distance.
[1 mark]
m Alcona)
[0]1].[3] Explain why this factor affects thinking distance.
[2 marks]
Negad Souss down e weln ond - ollects St
norSogron it ORes Ng M\'\\m\ Aance,

e \ORQURR \\Jm Rl g\guser -

EXAMINER COMMENTARY

There are a number of misconceptions in the answers to these questions.
In 01.1the student has incorrectly stated that thinking distance is a ‘time’.
This is a common error.

In 01.2 there are a range of acceptable answers, this being one example.
Students should describe factors that affect reaction time rather than giving
reaction time as a factor.

In 01.3 the student has referred to ‘thinking slower’. This is not sufficient to
describe reaction time increasing. They have not made the link between
increased reaction time and travelling further before braking so don’t score
the second marking point.

1 mark awarded.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

The stopping distance of a vehicle is equal to thinking distance plus braking distance.

[0]1].[1] whatis meant by the term thinking distance?
[1 mark]

TmmrmeRtee. Yo dckorce Ataveled g
o e Afesr  eadke  aed Preeees on
ares

Ap Q&N g =

—— —

[0]1].[2] The speed of a vehicle affects thinking distance.

State one other factor that affects a driver’s thinking distance.
[1 mark]

_ ANedhd aedd c.’).(u%c—)

[0]1].[3] Explain why this factor affects thinking distance.
[2 marks]

X Sows Mhﬂj@%_dﬁkmu
as  dAwer oot Cﬂﬂ_"ﬁj\\&)_@q:ﬂlsf‘
ar\d_ﬁaﬂ'_m\‘\ mW%l
o Akl Ao don tenddenn,

EXAMINER COMMENTARY

In 01.1 the student has correctly identified the link between distance
travelled and the driver’s reaction time.

In 01.2 both examples given are acceptable answers.

In 01.3 the student has talked about thinking distance ‘slowing down’ which
is a common, but incorrect idea. Another common, incorrect idea is that
reaction time ‘slows down'’.

2 marks awarded.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT C

The stopping distance of a vehicle is equal to thinking distance plus braking distance.

[0]1].[1] whatis meant by the term thinking distance?
[1 mark]

_ The dee F ks Sor the  dower to Ml sboup

. @ The speed of a vehicle affects thinking distance.

State one other factor that affects a driver's thinking distance.

Aeol

[1 mark]

[0[1].[3] Explain why this factor affects thinking distance.
[2 marks]

Mo ifluene of alohd gl o humae b
a)  puolles us sl Huls which ookl
M HM‘A% cll‘é'er o nf tould)
lvm. + Mokl $or = [)q?er Yme Bahtm;cl:{?,

EXAMINER COMMENTS

In 01.1 this student has incorrectly stated that thinking distance is a time.
Their description of reaction time as being ‘time to think’ is insufficient.

In 01.2 a correct response has been given.

In 01.3 thinking for a longer time before reacting scores 1 mark but there is
no link to distance travelled during this time so this does not gain a second
mark.

2 marks awarded.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

QUESTION

07.3

. @ Table 4 shows the expected life span of stars of different masses.

Table 4
Relative mass of star (solar masses) Expected lifespan (million years)
60 3
30 11
10 33
3.0 370
1.5 3000

A student is given the data and makes the conclusion:

“the relative mass of the star is inversely proportional to the expected lifespan.”

Explain whether the data support this conclusion.
[4 marks]
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

Guestion Marking guidance Mark Comments

calculation of k from one line of data 1
calculating a second value of K
or

using calculated k in a second set of data

carrect conclusion based on their values

further calculation leading to some data does and some does not fit
the relationship

07.3
OR

most of the data does not support the conclusion (1)

(because) when the relative mass of the star doubles the expected
lifespan does not half (1)

(however) the data for relative masses 10 and 30 does support the
conclusion (1)

(because) the mass triples and the expected lifespan is one third (1)
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A

A student is given the data and makes the conclusion:
“the relative mass of the star is inversely proportional to the expected lifespan.”

Explain whether the data support this conclusion.
[4 marks]

L éﬂ_m?_ ol Ty Conclosiom M b tedeed
fr_mmu_.'&f&zéme , AglL)fe nmb_éé,@u

L(_@_/W_ﬁh focseouse ;- Inass ?{ s, =3
A2 3P Lfete ppead O tier ufo- ass 'tp st

M@J_ 2 Yuee ) 7‘! %]rr?__ #‘I f“‘} &C_a.;z oo ]
f;wﬂg’y peperTions], I

EXAMINER COMMENTARY

The student has identified data that does not support the conclusion and
has gone on to compare the relationship between two sets of data. They
have not recognised that there are two sets of data that do support the
conclusion so do not gain the marks for this.

2 marks awarded.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

A student is given the data and makes the conclusion:
“the relative mass of the star is inversely proportional to the expected lifespan.”

Explain whether the data support this conclusion.
[4 marks]

GO = k _
3

bo xg‘:_\&)

EXAMINER COMMENTARY

The student has calculated a value for ‘k’ from one set of data so gains the
first marking point. To gain further marks the student would need to
calculate 'k’ for a second set of data and draw a conclusion from their
values.

1 mark awarded.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT C

A student is given the data and makes the conclusion:
“the relative mass of the star is inversely proportional to the expected lifespan.”

Explain whether the data support this conclusion.
[4 marks]

AS tk I’é@ti% YaG S5 C’% Sbow 0&%%3, iy eﬁ’?é({g;{

L)

B3N %E‘—T#:;:flavwse!j——‘gﬁeml
wdon Ao Vmays (S QQ £ (’,fc_@:m ¢y 3,
ulen Bt masy 05 (S S Uemais Jaw.

_;rtﬂfvv[("‘i A ;106.3%9 papartionl -

EXAMINER COMMENTARY

Many students do not understand the term inversely proportional. In this
example, the student has looked at the decrease in mass and the increase
in expected lifespan and concluded that this is inversely proportional. They
have used the data to support their idea, which is good for this type of
guestion, but do not gain credit as all they have succeeded in doing is
exemplify two different pairs of measurements, not the trend within the
data.

0 marks awarded.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

QUESTION

06.3

@ Discuss the advantages and disadvantages of using a solar power station to generate
electricity compared to using fossil-fuelled power stations.
[6 marks]
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

Question Marking guidance | Mark | Comments

Level 2: Scientifically relevant features are identified; the way(s) in 4-5
which they are similar/different is made clear and (where appropriate)

_ TR _ ignore costs
the magnitude of the similarity/difference is noted.

Level 1: Relevant features are identified and differences noted. 1-3
No relevant content 0
Advantages

+ No CO; emissions

+ (50) reduces global warming

« Mo S50, emissions

+ (s0) reduces acid rain

+ HRenewable

+ (Can be used to meet sudden demand

+ More efficient than fossil fuelled power stations
Disadvantages

+ Large area of land needed for the number of mirrors required
+ Energy requirement to keep the fluid at 290 *C
+ Energy for storage is limited if cloudy / raining

06.3

ignore unreliable unless linked to cloudy weather / fewer
hours of daylight at certain times of year

* Not suitable for use in many locations around the world
+« Transporting large mass of oil and salt to the location will release
COq
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A

E Discuss the advantages and disadvantages of using a solar power station to generate
electricity compared to using fossil-fuelled power stations.
[6 marks]

Wt Wl nd W guk and can a0 e _l_f_t?mcigl
il oSS FuelS Wl POnten ew ablly b WA

S0las powdg Sholiory S a fonew abt Vg sowce
-\ L

W dS0 povides eSS 2nUAY as uswpaed o
s hws -

EXAMINER COMMENTARY

This response is a clear level 1 response. The student has identified some
simple advantages and disadvantages of using a solar power station. They
have not referred to any environmental effects other than the appearance of
the power station so do not gain further credit.

2 marks awarded.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

@ Discuss the advantages and disadvantages of using a solar power station to generate
electricity compared to using fossil-fuelled power stations.
[6 marks]

_ Solar Pokec Sh— 3 Riewdile  Meetsn, i owill
o c#glaﬂmﬂesm.&«@#éd&w_
etoKarg i / pma‘g (O, Erisshons o)
§do_pose_aan_be S o peds Hounevae, fosil Sdr
M_Mam will évffftfp(. an ahJ' Mtﬂ! alig

M lof J’;&mkm @odcuiu&_émgl Hc_mmmt
LIan@ m%m_m Josgil
J&Jx_%_'ﬁm_méﬁ{ QML qog Gfiekﬁm

JdL_mum n

ij_&m %) Q{%M M%#M

EXAMINER COMMENTARY

This response is an example of a low level 2 response. The student has
given simple advantages and disadvantages. They have also gone on to
discuss carbon dioxide emissions and made the link to greenhouse gases.
Their disadvantages discussion is weaker with reference to energy from
sunlight only being available in the mornings.

4 marks awarded.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT C

- D Discuss the advantages and disadvantages of using a solar power station to generate
electricity compared to using fossil-fuelled power stations.
[6 marks]

—od\ac poues  Sodones  afe. Tenewobde.
hoze e eudh an Co on Yeey donY
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EXAMINER COMMENTARY

This is an example of a clear level 2 response. The student has given a
good account of the environmental benefits of solar power stations,
referring to both carbon dioxide and sulphur dioxide. Their discussion of the
disadvantages is slightly weaker referring to ‘not much sun’ rather than
linking to hours of daylight or typical weather conditions. Sunlight is a better
way of describing ‘Sun’ too. They have also talked about solar power
stations only work in the presence of sun without clarifying that they
understand that cloudy conditions will limit, rather than stopping generation
of electricity or provision of energy for storage.

5 marks awarded.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

QUESTION

02.1

EI An electromagnet can be made by coiling an insulated wire around an iron nail.
A student makes the following hypothesis:
“Changing the number of turns of wire will change the strength of an electromagnet.”

The student has a nail, a long insulated wire, a power supply, an ammeter and paper
clips.

Describe how the student could use this equipment to test the hypothesis.
You should include:

« the independent variable

+ the dependent variable

e measurements to record

¢ variables to be controlled and how to control them
« safety considerations.

You may include a labelled diagram in your answer.
[6 marks1
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

Question Marking guidance Mark Comments

02.1 Level 3: The design/plan would lead to the production of a valid 56
) outcome. All key steps are identified and logically sequenced.

Level 2: The design/plan would not necessarily lead to a valid 34
outcome. Most steps are identified, but the plan is not fully logically
sequenced.

Level 1: The design/plan would not lead to a valid outcome. Some 1-2

relevant steps are identified, but links are not made clear.

Mo relevant content 0
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A

Describe how the student could use this equipment to test the hypothesis.
You should include:

the independent variable

the dependent variable

measurements to record

variables to be controlled and how to control them
safety considerations.

You may include a labelled diagram in your answer.
[6 marks]

Independent  Varible * Turng ok Wil

Ve qedent vasidble - The olistmce o poo dlip aulf
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(b 0 the mil. B Reovd  the furthert face
St e it @l e atticed () (hrge the
numher oF  furng e wing. m( vepef  stef
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EXAMINER COMMENTS

This is an example of an alternative method to describe this investigation.
The student has correctly identified the independent variable and a suitable
dependent variable that links to their method of measuring distance that a
paperclip can be attracted from. There is only one control variable
identified. Safety has not been considered in their response.

This response is a good level 2 response but the lack of control variables
and safety considerations means that the account is not enough for level 3.

4 marks awarded.
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INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

Describe how the student could use this equipment to test the hypothesis.
You should include:

« the independent variable

« the dependent variable

« measurements to record

= variables to be controlled and how to control them
» safety considerations.

You may include a labelled diagram in your answer,
[6 marks]
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EXAMINER COMMENTARY

The student has given an account of the investigation and given correct
statements about measurements to record but has not made any link to the
variables. There is no consideration of control variables in the account and
the safety considerations are weak.

The basic idea of how to carry out the experiment but with no suggestions
as to how to achieve a valid outcome means that the response is level 1.

2 marks awarded.
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STUDENT C

Describe how the student could use this equipment to test the hypothesis. [
You should include:

» the independent variable

« the dependent variable

+ measurements to record

= variables to be controlled and how to control them
» safety considerations.

You may include a labelled diagram in your answer.
[6 marks]
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EXAMINER COMMENTARY

This response is well structured and the student attempts to address all
of the bullet points. They correctly identify the independent variable,
although they should be referring to ‘turns on the coil’ rather than ‘number
of coils’.

The student then goes on to incorrectly link number of turns to current in
the coil. They have the incorrect dependent variable and then go on to
say that number of paper clips picked up should be recorded. In their
discussion about control variables they refer to the power supply but this
is a contradiction to earlier in the answer where they talked about
adjusting the power source to vary the current. The account is unclear
and contains a number of misconceptions about the investigation so this
is a level 1 response. The correctly identified independent variable and a
relevant step involving number of paperclips allow this response to gain 1
mark.

1 mark awarded.

Copyright © 2019 Oxford International AQA Examinations and its licensors. All rights reserved. 32



INTERNATIONAL GCSE COMBINED SCIENCE PHYSICS DOUBLE AWARD (9204)
PAPER 1 AND 2, EXAMPLE RESPONSES WITH COMMENTARY

Copyright © 2019 Oxford International AQA Examinations and its licensors. All rights reserved. 33



FURTHER GUIDANCE AND CONTACTS

You can contact the subject team directly at

Please note: We aim to respond to all email enquiries within two working days.

Our UK office hours are Monday to Friday, 8am - 5pm local time.

OXFORD

INTERNATIONAL
AQA EXAMINATIONS

OXFORD INTERNATIONAL AQA EXAMINATIONS
GREAT CLARENDON STREET, OXFORD, OX2 6DP
UNITED KINGDOM

enquiries@oxfordagaexams.org.uk
oxfordagaexams.org.uk

Copyright © 2019 Oxford International AQA Examinations and its licensors. All rights reserved.


mailto:enquiries@oxfordaqaexams.org.uk
https://oxfordaqaexams.org.uk/

